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Sample Statistics Question

QUESTION: The correlation between student midterm scores 
and final exam scores is 0.55. The midterm scores for all 
students has a mean of 85 and a standard deviation of 6, while 
the final exam has a mean of 70 and standard deviation of 9. 
Gloria scored 93 on the midterm. What mark can we predict 
for her final exam score?

Given

Unknown

Equations

Set-up

Solve



The correlation between student midterm scores and final exam scores is 0.55. The midterm scores 

for all students has a mean of 85 and a standard deviation of 6, while the final exam scores has a 

mean of 70 and standard deviation of 9. Gloria scored 93 on the midterm. What can we predict her 

final exam score to be?

Given:

Correlation (r) = 0.55

Midterm mean (തx) = 85

Midterm Standard deviation (Sx) = 6

Final exam mean (ȳ) = 70

Final exam Standard deviation (Sy) = 9

Gloria’s Midterm score (x) = 93



The correlation between student midterm scores and final exam scores is 0.55. The midterm scores 

for all students has a mean of 85 and a standard deviation of 6, while the final exam scores has a 

mean of 70 and standard deviation of 9. Gloria scored 93 on the midterm. What can we predict her 

final exam score to be?

Unknown:

Intercept (b0) = ?

Slope (b1) = ?

Gloria’s Final exam score (Ŷ) = ?

Ŷ= b0 + b1x 



The correlation between student midterm scores and final exam scores is 0.55. The midterm scores 

for all students has a mean of 85 and a standard deviation of 6, while the final exam scores has a 

mean of 70 and standard deviation of 9. Gloria scored 93 on the midterm. What can we predict her 

final exam score to be?

Given:

Correlation (r) = 0.55

Midterm mean (തx) = 85

Midterm Standard deviation (Sx) = 6

Final exam mean (ȳ) = 70

Final exam Standard deviation (Sy) = 9

Gloria’s Midterm score (x) = 93

Unknown:

Intercept (b0) = ?

Slope (b1) = ?

Gloria’s Final exam score (Ŷ) = ?

Equations:

b1= r * 
sy

sx

b0 = ȳ- b1തx

Ŷ= b0 + b1x 

Set-up:

Solve:



The correlation between student midterm scores and final exam scores is 0.55. The midterm scores 

for all students has a mean of 85 and a standard deviation of 6, while the final exam scores has a 

mean of 70 and standard deviation of 9. Gloria scored 93 on the midterm. What can we predict her 

final exam score to be?

Equations:

b1= r * 
sy

sx

b0 = ȳ- b1തx

Ŷ= b0 + b1x 



Set-up:

b1 = 0.55 * 9 

6

b1 = 0.825

b0 = 70 – 0.825*(85)

b0 = -0.125



Set-up:

b1 = 0.55 * 9 

6

b1 = 0.825

b0 = 70 – 0.825*(85)

b0 = -0.125

Solve:
Ŷ = b1x  + b0  

Ŷ = 0.825* 93 + (-0.125)

Ŷ = 76.6
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